ECON611, PROBLEM SET #4: For this problem set, you should hand in a readable and clean version of a Stata log file.  You may use the Stata test command to test hypotheses.  Instructions in bold face should be answered on a separate sheet.
1.
A. Construct dummy variables for: high school dropout (or less), high school 


graduate, some college (including associates degree), college graduates with a bachelor's degree, graduate degree (masters and above).  Use the variable EDUC99.

B. Estimate an equation using the log of hourly wages as the dependent variable and the education dummy variables, experience, and experience squared as the independent variables. 
C. Based on the results of the equation estimated in B, how much more will a college graduate earn compared to someone who has only a high school degree?


D. Using these results, test whether the returns to education for workers with a high school education are significantly different from returns to education for workers at the next highest education level (some college).  You may use the Stata test command. 

2. 
A. Estimate an equation using the log of hourly wages as the independent variable
 
and years of education, experience, experience squared and a dummy variable for

gender as independent variables.

B. Use the results of the equation estimated in 2A to test whether men and women earn significantly different hourly wages (after controlling for education and experience).


C. Report the regressions estimated in 1B and 2A in a table.
3.
A. Estimate an earnings equation using the log of hourly wages as the dependent
 
variable and use it to test the hypothesis that (after controlling for the effect of potential experience) 

the coefficient on the years-of-education variable is significantly different for men and women.
B. Based on the results of the equation estimated in A, how much more (or less) will a women with 10 years of education earn than a man with 10 years of education (after controlling for the potential effect of experience)?

